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M% Lessons 1& 2 Exercises

o Choose the correct answer from a, b, cor d:

1. Father always tells us that we can get success with ............. , patience and hard work.
% a) laziness b) determination c) amusement d) condensation
2. The job advert asserts that all applicants must have a ........... in commerce and at least 3
years previous experience.
{va)rank b) degree c) title d) headline
3. Strong ... and winds hit the small fishing boat and damaged it.
¢ a) droughts b) floods c) currants d) currents
4. Teaching young children can be areal ... as they are sometimes difficult to teach.
¢ a)challenge b) change ) plan d) success
5. Don't worry, Ahmed. | .......c.c..... about your plan at the moment.
v a) think b) am thinking c) thought d) was thinking
6.1 my sunglasses today because the sun is very strong.
" a) am wearing b) wear c) won't wear d) cant wear
7. Ola can't have the newspaper now because her father ... it.
¢ a) was reading b) read c) reads d) is reading
8. He . that he will mend the window, but he never does it.

"+ a) was always saying b) always saying c) is always saying d) will always say
9 A) Choose the correct English translation:
Dl G olw¥ | wal (ya ool g gad G135 OIS Aalisiall @Ilall o3 US (o sl Apasdl Eodlolall iy Culgas -
Lyl Lig) 58 g e LA Ao yuu
¢ a) Modern means of transport facilitated travel between all different countries of the world,
and this was fortunately one of the most important reasons that led to the rapid spread of
the coronavirus as well,

b) Modern means of transport facilitated travel between all different countries of the world,
and this was unfortunately one of the most important results that led to the rapid spread of
the coronavirus as well.

¢) Modern means of transport facilitated travel between all different countries of the world, and
this was unfortunately one of the most unimportant reasons that led to the rapid spread of
the coronavirus as well.

d) Modern means of transport facilitated travel between all different countries of the world,
and this was unfortunately one of the most important reasons that led to the rapid spread of
the coronavirus as well.

B) Choose the correct Arabic translation:
In the past, Egyptian students had to travel abroad to complete their studies. Nowadays,
they can study at some of the best universities which have branches in Egypt.
G Al ogiSay b ladl Cdall 8 egloe JLaS¥ bl ddwdl Gyl Ol e OIS ooledl & (57
s & oy Lel G Dlaaladl Jadl famy
G Al e giSay b ld| Bl & eginaslys SLaS¥ 7L sl iy peall bl e OIS oo ladl & (b
rian & £y0 Ll SN DL Jadl (aay
G Al 0 giSay s | Sl G egiaslys JLaSY gLl dad| i pualll o3 e OIS oolall & (C
s & g3 Lgd S Slaalad| bl Gany
G Al e giSay piladl Cdall 3 egiwlys JLeS¥ Il dlawdl el o3I e OIS (ool & (d
rian $ £958 Lgd S Dlaalsdl Jadl sy
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m& Lessons 3 & 4 Exercises

o Choose the correct answer from a, b, cor d:

1. The children overheard the parents'...... about their new school.
{ a) interview b) communication c) struggle d) conversation
2. At Dream Park, the ... per person goes down for groups of more than ten people.
{ v a) price b) width ) weight d) view
3. The ship was badly damaged during the return ................ from South America.
¢ a) voyage b) flight ¢) picnic d) journey

4. As | couldn't talk to the manager on his phone, | only left him a voice ... .
v a) mail b) notice c) mark d) sign
5. We are going to the theatre ................. .

v a) next year b) tonight c) every month d) already
6. I'm busy at the moment. | .............. the sitting room.

" a) am redecorating b) redecorating c) redecorate d) will redecorate
y why an apple falls down and not up?

¢ a) Will you know b) Did you know c) Are you knowing  d) Do you know
8.l to Omar tonight. Do you want to send him any messages?

{ “a)wrote b) write ) 'm writing d) have written

9 A) Choose the correct English translation:
o b LeS il 0T | Dol (g B3l Gle el poy IS Aled 2 Dleasdd| BUS Ol sl Gy Iy -
gl dliladily cUlael eulaii Lle
¢ a) Some experts say that writing a diary at the end of each day helps you to benefit from
the experiments you are going through, and organise your work and daily activities.
b) Some experts say that writing a diary at the end of each day helps you to benefit from
the experiences you are going through, and organise your work and daily activities.
) Some experts say that writing a dairy at the end of each day helps you to benefit from
the experiences you are going through, and organise your work and daily activities.
d) Some experts say that writing a diary at the end of each day helps you to benefit from
the experiences you are going through, and organise your work and weekly activities.
B) Choose the correct Arabic translation:
One of the most important advantages of travelling abroad is getting in touch with different
cultures. It leads to the spread of tolerance and peace.
poeadly ol HLAGH Jl 35 968 - AaLST S1BLAHT ga sl ol el i Llis eal s (2 "
el zalusl LA ] @350 568 - AgaLdill SBLAYI pa o5 ) daed| Lise wal e (D
p bty pealuill Olaus J) 6350 565 - 2L SBLAH xa Juo i) 31 Sl sawd| Lise eal e (C
ety el HLADI ] 6350 568 - 2L SBLAH g Jus ol sl ] saad) isue el e (d

Follow-up Exercises 5§

KTHEYE



https://ktabyeg.com

M% Advanced Exercises

Choose the correct answer from a, b, cor d:

1. Because of the strong wind, only ten boats out of fifty could complete the ... .

. va) certificate b) match c) degree d) course
2. In most products of the famous shoe brands the ... is on quality.

" a) phrase b) price ) accent d) dialect
3. My friend got angry with me as he completely ... my joke.

™ a)rank b) missed c) certificate d) grade
4, Scientists say that some animals may ................ disease that could affect humans.

¢ a) harbour b) port c) consist d) enclose
5. Due to modern technology, we can now predict the weather with a greater ... of accuracy.

“va)rank b) degree c) certificate d) grade
6. With the new building and modern equipment, the. ... of the school has changed.

{ % a) portrait b) fitness c) character d) form
7.Atthe ... ceremony, the players received their medals with great honour.

¢ a) applying b) acceptance ¢) graduation d) presentation
8.1 watched afilm ... the life and work of President Sadat.

¢ a) shaping b) focusing c) celebrating d) preventing
9.He out the window at the rain.

. +a) had looked b) looks c) looking d) is looking
10. Does Ola have a piano? “Have” here means .. .

¢ a) play b) own ) gain d) like
11.1don't .. the music playing.

" a) hearing b) listen ) hear d) listening
12. MoNna ... that we were rude at the market yesterday.

v a)feels b) was feeling c) is feeling d) feeling
13. Look! The boy ... the flowers.

“va)smell b) is smelling c) smells d) was smelling
14.The new baby ... 3 kg.

" a) weigh b) is weighing c) weighs d) is weight
15.5amy ..o crazy today. He is behaving in a crazy way.

a)is b) was ) has been d) is being
16.They ... their cousins tomorrow. They ... a party together.

" a) are seeing / are having b) are seeing / have

) see / are having d) see / have
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M% Lessons 1& 2 Exercises

o Choose the correct answer from a, b, cor d:

1. The Ministry of Transport is planning to form a .................... of railway lines connecting the New
Administrative Capital and major cities.
v a) flock b) network c) party d) company
2. The airline insists that passengers must ................. in at least an hour before departure.
{ v a)gain b) increase c) click d) check
3. Tickets are now ... at reduced prices from the film festival office.
¢ a) avoidable b) vague ¢) available d) unreliable
4. The government encourages people to use ............. transport because there are too many
cars on the roads.
" a) public b) general c) private d) careful
5. You are always late. By the time you reach school, the first lesson ............... .
¢ a)will be starting  b) will start c) will have started  d) is started
6. The guests are coming at 8 p.m. | ... cooking by then.
¢ a) am finishing b) will finish ) may finish d) will have finished
7. On 9" October, we ... for 30 years.
¢ a) will have married  b) will have been married  ¢) will marry d) will be marrying
8. Willyou ..., to bed when | get back?
£ a) have gone b) be going c) have been gone  d) be gone

A)“'Choose the correct English translation:
£ L A5 dmT iy 3l (oS3 ¢ Lunall o6 pladl JAUT Sl e unbiod IS0 Sptatmp wlil) O (9,381 ey -
pladl JAU Jilg Lay355 Y dpumguns Lgislial laai LY
i :a) Many believed that people will depend mainly on public transport in the future, but some
rule out the disappearance of cars because they give their owners privacy that public
transportation does not provide.

b) Many believe that people will depend only on public transport in the future, but some
rule out the disappearance of cars because they give their owners privacy that public
transportation does not provide.

c) Many believe that people will depend mainly on public transport in the future, but some rule
out the appearance of cars because they give their owners privacy that public transportation
does not provide.

d) Many believe that people will depend mainly on public transport in the future, but some
rule out the disappearance of cars because they give their owners privacy that public
transportation does not provide.

B) Choose the correct Arabic translation:
Scientists and transport industry professionals work side-by-side to ensure efficiency, ease
and safety. The new technologies get more people to their destination faster and safer.
Buaond! SLGAT Jans . OLa¥ g Dpgdls 3sLasdl Sleual o 3 Liier Ja201 HLE & Ogmiasilly sholall foay (57
LTy gyl IS egilgms dl palsad ¥l g il Jiuspi e
Banasdl LA et OLa¥ g Ligylly 3sLastl Gleal i ) Liis a1 dclivn & Ogmmasilly slelall Jony (b
ULl STy oaal U wgigms dl o5t s aill i e
B sl LSET et Ola¥ 1y Wggudly 3sLasIl Olaual Cis ) Liis Jai delin & (guminsiillyslalall Jony (C
LT iSTs gyl ISty e gigns Jl ool ¥ (o a3l ol e
Syl LA St Ola¥ |y Aggudly belasil Oladal i JI i Jaill delin @ Ogumiasilly slalell Jony (d
DTy il U agigons 51 (e a3l sl e
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M% Lessons 3 & 4 Exercises

o Choose the correct answer from a, b, cor d:

1. My father was always the one who settled ... between me and my brother.
¢ a) arguments b) conferences c) seminars d) agreements
2. The customer service says they try to ............. to complaints within 48 hours.
v a) refer b) deny c) neglect d) respond
3. I'm sorry for being irritable. I've been under a lot of ............ at work lately.
(" a) stress b) race c) pleasure d) envy
4, The government’s decisions could ... the lives of millions of people.
v a) affect b) effect c) infect d) defect
5. By thetimewe .............. , the kids will have gone to bed.
¢ a) will arrive b) arrive
c) will have arrived d) will be arriving
<2 I— in an hour and then we can watch a film.
¢ a) will have been finished b) won't have finished
c) will be finished d) will have finished
7. In three years'time, | ... from university.
¢ a) will have graduated b) will be graduated
c) will be graduating d) graduate
8.She . her studies before the age of 21.
¢ a) will be completed b) will be completing
c) will have completed d) completes

A) Choose the correct English translation:
gt Sl 3l (8 AN S 381 (o6 (0 i) oy 1) ¢ lmalionall o3 (01 CMSLdall (0 308 S (o8 bl o) e luacy B -
¢ :a) Youth's creation may contribute to solving many problems facing societies. Therefore, they
must be involved in decision-making centres in government institutions.
b) Youth's creativity may contribute to solving many problems facing societies. Therefore, they
must be involved in decision-making centres in government institutions.
¢) Youth's creativity may contribute to making many problems facing societies. Therefore, they
must be involved in decision-making centres in government institutions.
d) Youth's creativity may contribute to solving many problems facing societies. However, they
must be involved in decision-making centres in government institutions.
B) Choose the correct Arabic translation:
Due to gas emissions of traditional means of transport, companies are using hydrogen
powered fuel cells, a technology where hydrogen is used as a fuel with only water and heat.

AT g igytuglly Joad 3589 LIS SIS, ) pusi e A BT U1 il e SLad SU L) s (24
da38 8y ly sladl g 39998 (ongy gl Lgud pasii
AET g e ST L aaT 35 89 LSS SIS, A1 pusid wd e 3y At LAl Blas e Slall SUSLasl cuwy (D
a5yl sdly slall pe 35858 (mmgygll Lgud posiiuuy
ALIET a9 iy gl doaad 3989 Lydts s 3L pasiand Syl Al Bilag e 3Ll SU Ll oy (€
a8 5 lsdly slall ae 35858 (rimmgyngll Lgud pusiiuy
LET g oyl Joaad 3989 Lydls: IS, il s Sy AT L AU By o 5Ladl SULa) oy (dl
o285l glly slall pa 39398 (iomgyiugll Laud pusiluy
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M% Advanced Exercises

Choose the correct answer from a, b, cor d:

1. The young wife takes .................. of the children’s absence at school to tidy their rooms.
¢ a) advantage b) revenge ) time d) effect
2. Needle is widely used in Chinese human ... medicine.
£ a) cultural b) alternative c) detective d) surgical
3. Cultural exchanges are a way of building ... between countries.
{7 a) ways b) tunnels ¢) homes d) bridges
4. The young singer’s first aloumiis ................ for release in September.
v a) invited b) agreed ¢) scheduled d) rejected
5. My office colleague is a very .............. man; he doesn’t trust his secrets to anyone.
¢ a) special b) private ) general d) public
6. Some people say that the coronavirus vaccine is only light at the end of the ................. .
v a)fight b) street c) road d) tunnel
7. My wife kept making a/an ................ of smoking until | gave it up.
% a) treaty b) agreement ) issue d) reason
8.I'll come straight to the ................: we need more money.
" a) point b) dot ) issue d) opinion
9. For the time being, we ............ for the exam, but this time tomorrow we ................... the best film
of this year.
¢ a) are studying / will be watching b) have been studying / are watching
¢) are studying / will have watched d) have studied / will be watching
10. How bad that game is! I'm sure our team ................. in this match.
¢ a) will have been eaten b) is beaten
c) is being beaten d) will be beaten
11. Scientists ... that some artificial photosynthesis ... possible.
" a) will hope / is b) hope / will be
¢) hoped / had been d) hoped / was
12. Scientists expect that by 2030, doctors ... the people suffering from serious illness.
¢ a) would be treating b) had treated
¢) will have been treating d) will be treating
13. My aunt ..o here tomorrow. She is abroad until next week.
{ “a)can'tcome b) won't have to come
¢) needn't have come d) shouldn’t be coming
14.By 2020, he .......ccc..... the Nobel Prize.
¢ a) will have awarded b) will have been awarded
¢) had been awarded d) had awarded
15. My car is expected ... by next week.
" a) to repair b) to be repaired
) to have been repaired d) that will have been repaired
16.Noha ... the Faculty of Medicine. She is a good student.
¢ “a)is going tojoin b) will join c) will have joined d) will be joining
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M% Lessons 1& 2 Exercises

o Choose the correct answer from a, b, cor d:

1. In the past, people. ... meat by drying and salting it. Now, there are many other ways
to do so.
{ “a)inspected b) cooked c) replied d) preserved
2. Farmers spray the .............. with a pesticide to get rid of insects and get a good harvest.
{ “a)crops b) canals c) planets d) spices
3. Archaeological ... are sometimes discovered by accident.
¢ a) positions b) views ) sites d) scenes
4, We saton the ... of the river relaxing and watching the boats.
{ " a) coast b) bank c) beach d) harbour
5. We take ... the same homework as we are in the same class.
{ v a)exactly b) extremely c)alot d) much
6. | think that English films are ................. as interesting as American ones.
{va)very b) exactly ) almost d) enough
7. When you were eight, ... to go to any sports clubs?
{ “a)youused b) did you use c) used you d) would you
8. She always gives us .............. too much homework.
{ va)almost b) a bit c) slightly d) far

A) Choose the correct English translation:
|09l Slgiue b Aagpidally Lidly ()| e gl (an llall Jpd (s 43S (5B LigysS (s ud domilar i ,d U1 SMLY T s -
Ay Bl Cidiatily ¢l gl
i :a) The closure imposed by the coronavirus pandemic in many companies of the world brought
some benefit to the land, the environment and nature, as air pollution levels decreased and
wildlife flourished.

b) The closure imposed by the coronavirus pandemic in many countries of the world brought
some benefit to the land, the environment and nature, as air pollution levels increased and
wildlife flourished.

) The closure imposed by the coronavirus pandemic in many countries of the world brought
some benefit to the land, the environment and nature, as air pollution levels decreased and
wildlife flourished.

d) The closure imposed by the coronavirus pandemic in many countries of the world brought
some benefit to the land, the environment and nature, as air pollution levels decreased and
wildlife finished.

B) Choose the correct Arabic translation:
Ecotourism is now defined as responsible travel to natural areas that conserves
the environment and sustains the well-being of the local people.
Laldy e Ladld s 1L e Ladlf Sl dpapdall Gl I Jebud awdl Ll e 01 &tnd) o lowdl CBpad (5
T Y |
Laldy e Loy 501 e Ladle S deliall 3Ll J Jsiul | wdl Lgil e 031 4l A Lewdl By (b
s OIS ]!
Lald; e Ladlds 2001 e Ladld S A padall GLLL ) Joiud | hawll Ll e 031 Aind| G Lwdl By (C
oL S Ll
e Ladl s Al e La bl S el GL L I Jpiad i i wdl Lgil e 031 3l Sl wdl 3y (d
sl OIS 4 gale,
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m& Lessons 3 & 4 Exercises

o Choose the correct answer from a, b, cor d:

1. Nature ... many famous artists who made great paintings.

{ " a) aspired b) inspired c) respired d) expired
2. It was difficult to ... a meeting at a time that suited everyone.

{ " a) popularise b) realise ) organise d) recognise
3. Unluckily, the clothes shop had a “closed” ... in the window.

" a) project b) note C) scene d) sign
4. The closure of the factory will mean the loss of over 800 ... .

{ “a)jobs b) works c) careers d) professions
5. He has exactly the same ............. as his parents have.

{ a)intelligence b) intelligently c) intelligent d) more intelligent
6. Karimis ........cccc..... more impulsive than his elder brother.

v a)slight b) slightly c) exact d) almost
7. Today, my fatheris ................ more irritated than usual.

v a) exactly b) almost c)alot d) many
8. Hany ... football after school, but now he chooses sports.

{va)didntuseto play b)plays c) wouldn't play d) used to play

9 A) Choose the correct English translation:
LS el 0 s O 10 ¢ g g el | Bads S JSiy pad Ol gy oy B i) Aol lg Al | LS o1 O -
LA e Blasd! Jolse wal ¢pe
¢ a) The positive and wrong behaviours that a person may practise greatly harm the safety
and health of the environment. Therefore, changing these behaviours is one of the most
important factors in preserving the environment.
b) The negative and wrong behaviours that a person may practise greatly harm the safety
and health of the environment. Therefore, changing these behaviours is one of the most
important factors in preserving the environment.
) The negative and wrong behaviours that a person may practise greatly harm the safety
and health of the environment. Therefore, changing these behaviours is one of the most
important factories in preserving the environment.
d) The negative and wrong behaviours that a person may practise greatly harm the safety
and health of the environment. Therefore, changing these behaviours is one of the most
important factors in reserving the environment.
B) Choose the correct Arabic translation:
It would be wonderful to have the ability to solve all problems efficiently and within

a suitable time limit.
B3 D) 518 (guind B 8elASs VSN e o e Bl Ll 56K OF 11 (0 O5Se (a
iwlin a5 3,18 Oguiad B BsLaSy CISUELT (aay o e a1 Ll 59K OF 511 (e OsSw (D
i 2la) 3508 Ogunt B9 8elaSy SN pras d e §)aall Sl 090 O 11 (s a8 (C
elie G} B8 Ogual B9 5elaSy SIS e I e 5)all L 055 OF Jumiaal | (a8 058w (dl
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M% Advanced Exercises

Choose the correct answer from a, b, cor d:

1. Many of the health problems we suffer from are ................. to the teaching profession.
{ a)intended b) communicated ¢) specialised d) unique
2. The new supermarket’s huge sale has put all othersin the ... .
{+a)shade b) storm ¢) shadow d) figure
3. Unfortunately, young people’s impolite behaviour has become a .................. of the times.
" a) spot b) notice c) sign d) note
4, The famous footballer’s private life is off ......... to the press.
¢ a) borders b) limits ) blocks d) targets

5. The match reporter could watch what was happening on the TV ............... .

" a) camera b) alarm ) monitor d) receiver
6. The local newspaper has been taking the politician to ................ because of his repetitive mistakes.

" a) task b) duty c) job d) career
7. Are you absolutely ... you locked the door?

" a) possible b) negative C) positive d) specific
8. Egypt plays a highly ... role in the peace talks.

¢ a) defective b) visible c) defensive d) effecting
9. When | was younger, I................. my father and do my homework.

¢ a) always helped b) would always help c) never helped d) botha &b
10.05aMma ... his grandparents on Fridays.

£ ha) visit b) would visit c) used to visit d) visiting
11.He e to the Book Fair twice last month.

(™ a)usedtogo b) was going c) would go d) went

12. He used to have long hair, but now he .............. .

™ a) doesn't b) wasn't c) has d)isn't
13.Heisa .. well-known performer than his brother is.
" a) almost less b) slightly little c) slightly less d) exactly the least
14. Her bike looks .................. to mine.
v a) similar b) the same c) exactly d) almost
15. Fish that live in the ocean ................. fish that live in rivers and lakes.
¢ a) different from b) differ from ¢) different than d) is different from
16. My coat is nearly ................ color as hers.
" a) similar b) exactly c) slightly d) the same
16 2 sec
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M% Lessons 1& 2 Exercises

0 Choose the correct answer from a, b, cor d:

1. The manager .............. all applicants to the job of an accountant to choose the best one.
¢ a) refused b) rejected ¢) puzzled d) interviewed
2. Scientists believe that man-made carbon dioxide is directly .................. for global warming.
" a) employable b) acceptable c) responsible d) deniable
3. A/AN is someone whose job is to collect payments from passengers on a bus.
¢ a) investigator b) conductor c) inspector d) trainer
4. The young man ............. being guilty of breaking traffic rules and paid a fine.
" a) complied b) admitted c) designed d) applied
5.She to the cinema until 2012.
{ v a)isn't not b) wasn't being c) had never been d) never was
6. The baby had never broken anything before he ... to crawl.
{ % a) starting b) started c) had started d) has started
7. When we arrived, we discovered that the bus ... . So, we waited for the next.
v a) leaving b) had been left c) left d) had left
8. Ahmed had never worked in a bank,sohe ... more details.
¢ a) wanted b) had wanted ¢) was wanting d) wants

9 A) Choose the correct English translation:
g3 LeiST sl e Jpuand! Jiluns el casuall CIS . Sudalad| AL Silgiad! b sl e St Jilug Cppkal -
ST geld o AL Of
¢ :a) The means of obtaining news have evolved in the past few years. Newspapers were the
most important means of obtaining news, but they are about to appear with the advent of
the Internet.

b) The means of obtaining news have involved in the past few years. Newspapers were the most
important means of obtaining news, but they are about to disappear with the advent of the
Internet.

¢) The means of obtaining news have evolved in the past few years. Newspapers are the most
important means of obtaining news, but they are about to disappear with the advent of
the Internet.

d) The means of obtaining news have evolved in the past few years. Newspapers were the most
important means of obtaining news, but they are about to disappear with the advent of
the Internet.

B) Choose the correct Arabic translation:
False news can easily spread through the internet, and it surely influences the political,

economic, and social conditions of countries.
Ol Bl Iy Zsbaldy 1y bl g Lall Lo WLl L3555 C,03 e Wsgun »ills OF dvsual LS (Say
6l G Lain¥ 1y Lyslaldy ly dpwlead! oyl le wuSTL 13555 C5,09 | ne Dpguun 7005 0 LS LS (Say
Ol e Leta ¥y y3lialdy 1y dnwlead! BoyLall Gle wuSTIL 3555 C5,0Y | e g 7005 O LI LSM (Say
O Sl s Dyslatdd lp duulead) g Lall e wuSTIL 3555 C303 ne Digaay »liS O B3I, L ooy
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unit 1o (L

Model (A)
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M% Lessons 3 & 4 Exercises

o Choose the correct answer from a, b, cor d:

1. My daughter was rescued safely, and | was very .............. to the firemen.
¢ a) reproachable b) resentful c) hateful d) grateful
2. The naughty boy took the car without ... and he had an accident.
" a) permission b) objection c) title d) degree
3. I advised my brother not to get .............. in our neighbours’ problems.
" a)inspected b) prohibited ¢) involved d) inhibited
4. Music has the great advantage of crossing cultural ... . People can enjoy each other’s
music.
" a) offers b) places c) states d) barriers
5. My father had saved a lot of money before ... the house.
" a) buying b) bought ¢) had bought d) he had bought
6. They ..o somewhere, because they were not there when | arrived.
" a) hadn't been b) hadn't gone ) never were d) had gone
7. You said yOu ... to Turkey 5 times the previous year.
" a) have been b) had been c) were d) would be
8. All my friends ... before they came to see me. They weren't hungry.
{“a)had beeneaten  b) have eaten ¢) had eaten d) were eating

9 A) Choose the correct English translation:
LS it lus Layslog o)3lan yalay Of asua S o 13! gl msidl (a5 Jilug o 5Ol il Ao -
¢ a) As a result of the great exchange in the means of reporting the news, it has become
imperative for every journalist to develop his sources and the way he writes the news.
b) As a result of the great change in the means of reporting the news, it has become imperative
for every journalist to develop his sources and the way he reads the news.
) As a result of the great change in the means of reporting the news, it has become imperative
for every journalist to develop his sources and the road he writes the news.
d) As a result of the great change in the means of reporting the news, it has become imperative
for every journalist to develop his sources and the way he writes the news.
B) Choose the correct Arabic translation:
We have to verify the authenticity of the news we read on the Internet because there is
a great possibility that it is false or fabricated.
LAS,da of LIS 0585 Ob DS TLlis| Sla 0¥ 5,831 Lle Lad,a5 31 Slaslall dous (e Gasdl Lide (3 »
LA ae o] 515 0585 O e Flaiad Slia 0¥ 25,01 Lle ag,a5 LAY Goas e 31 Lle (b
L3S 1da 5] Ao 0585 OL 1S Tl STlia 0F 0,53 Ll Wadyds S LEY 1 s (e Gasd Lide (€
LAS a5l LS 0585 Oh S Flaia | $Ilia 0F 20,031 Gle LeiSs SILLEY Gous oe Gasill Ligle (d
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M% Advanced Exercises

Choose the correct answer from a, b, cor d:

1. Fish for the restaurantis .................. daily from local fishermen, so their meals are fresh.
v a) grown b) produced ¢) consumed d) sourced
2. The workers escaped just as the factory was in ............... and saved their lives.
" a)races b) flames c) fire d) waves
3. Roger Federer, a great tennis champion, had won about 104 tennis .............. before he retired.
v a) titles b) leagues ¢) divisions d) addresses
4. Europe is facinga new ................ of immigrants from the Middle East.
¢ a) activity b) trend c) wave d) current
5. The company’s offices are in London, so the............. are very high, paying for the costs.
¢ a) overheads b) downloads ¢) uploads d) head downs
6. Unfortunately, we are losing our top ................ in science to other countries who pay more.
£ a) gift b) income c) talent d) creation
7. Mother said she was feeling fine, butin ................. she was very ill.
£ a) trial b) action ¢) fiction d) truth
8.Theoverall ... of the novel is gently comic, although it has serious scenes.
" a) shape b) tone c) form d) material
L N | —— a nice bike last week.
¢ a) was buying b) had bought
¢) had been bought d) bought
10. After...., , the e-mail was sent to all the employees.
{7 a) written b) writing c) being written d) wrote
11. Having ... , the e-mail was sent to all the employees.
{ " a) been written b) written ) writing d) being written
120 the thief when he reported the police.
¢ a) Hardly he had seen b) He had hardly seen
c) No sooner he had seen d) He had no sooner seen
13. Ayman was very upset yesterday because he ............... thathe ..o his wallet.
¢ a) had realised / lost b) realised / will lose
¢) has realised / lost d) realised / had lost
14. 1 couldn’t find out what ... .
¢ a) has happened b) is happening ¢) had happened d) happens
15. It was six o'’clock and he ............ bored because he ... for two hours.
" a) was / was waiting b) was / had been waiting
¢) had been / had waited d) was / is waiting
16. It was only after she .............. English that she ... to make some foreign friends.
{ “a) had learnt/ started b) learnt / had started
¢) learnt / would start d) was learning / started
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m& Lessons 1& 2 Exercises

o Choose the correct answer from a, b, cor d:

1. Unfortunately, many homeless children have to ................. by begging.
{ " a)detect b) detest c) survive d) arrive
2. A is the written form of a play, film, television show, etc.
{ “a)wave b) soundtrack c) script d) current
3. I was sad when Mr Ali retired as we were ... in the same office for more than 20 years.
% a) colleagues b) competitors c) classmates d) rivals
4. During our trip in Hurghada, my friend was too ................ to try diving.
{ % a) interesting b) effective ) scared d) fanned
5. He's your friend, ... he?
{ “a)doesn't b)isn't c)amn't d) hasn't he
6. Gehan won't come, .......ccc.... she?
¢ va)hasn't b)is c) doesn't d) will
7. They didn't go to the mall yesterday, ................ they?
% a)did b) does c)do d) didn't
8. The weather .. changed and we had to go back home.
{ “a)sudden b) a sudden c)inasuddenway  d)suddenly

9 A) Choose the correct English translation:
529 J Bl BBY wgloie dshg cagiliS phu s il oy 030,31 e (uSaiy maionall e Lodpand | 5315 Ol I -
sl egile e
¢ a) Itis said that the impact of cinema on society is reflected in its numbers, as it changes their
behavior, takes their minds to distant horizons, and even affects their daily lives.
b) It is said that the impact of cinema on society is reflected in its members, as it changes their
behavior, takes their minds to distant horizons, and even effects their daily lives.
¢) It is said that the impact of cinema on society is reflected in its members, as it changes their
behavior, takes their minds to distant horizons, and even affects their daily lives.
d) It is said that the impact of cinema on society is reflected in its members, as it changes their
behavior, takes their minds to distant horizons, and even affects their daily activities.
B) Choose the correct Arabic translation:
Making films is an important industry. The primary purposes of most films are to make
profits, attract audiences, and keep them entertained.
Opaiatins ngilanls nalendl olons L)Y 3ua & poY | laal alw¥1 (oL ekl daga delio p2i¥ | dclin (
Onaialuns 0gilanls palend| jass L)Y Giad & polY | laal dial¥! (oL ¥1 el daga delio p3l¥ 1 delinn |
maieluns wgilisly salesdl oy L)Y Gids & p3I5Y | laal Zgilill (1,21 Hali. daga delivn p3Y | Aclin (C
O g lilg alesdl s LY Buas & p25Y | laal ALY (o1E Y JEa . daga deline p3Y ) dclin (
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mg Lessons 3 & 4 Dictation
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m& Lessons 3 & 4 Exercises

o Choose the correct answer from a, b, cor d:

1. People first ........c...... the power of electricity over 200 years ago.
¢ a) denied b) harnessed c) explored d) expired
2, The little girl looked very ... in her older sister’s dress as it was too big for her.

{ " a) fantastic b) clever c) silly d) smart

3. “Tom and Jerry” are probably the most famous ... characters.

v a)allied b) historical ) apparent d) animated
4. The wrong choice of computer could be a costly ... .

¢ a) mistake b) guilt c) crime d) mark
5. Karim has a sister, ............ he?

v a) haven't b) hasn't c) doesn't d)isn't
6. Your dad doesn't like football, ................ he?

{a)do b) does c) did d)is
7. They carried out @ ..o attack on a defenseless man.

" a) cowardliness b) coward c) cowardly d) cowardly way
8. The meeting was very ............... organised. It was fruitful.

{a) well b) good c) better d) best

9 A) Choose the correct English translation:
ol e (sl ST iay gd o alall JLsl pYUBT cpa Lalid OIS 1315 ¢ dlipasidh (pa Liiler uSay pasidil) (Jiindall wlidll ) JLa, -
¢ a) Itis said that a person’s favourite film reflects an aspect of his personality, so if it is a science
film, then this means that you are a thinker and a dreamer.
b) It is said that a person’s favourite film reflects an aspect of his personality, so if it is a science
fiction film, then this means that you are a thinker and a dreamer.
¢) Itis said that a person’s favourite film reflects an aspect of his personality, so if it is a science
fiction film, then this meant that you are a thinker and a dreamer.
d) It is said that a person’s favourite book reflects an aspect of his personality, so if it is a science
fiction film, then this means that you are a thinker and a dreamer.
B) Choose the correct Arabic translation:
One of the bad side effects of horror films is sleeplessness. People may have trouble
sleeping all night due to the fear and anxiety.
3Ll Bl oy Jalll Jlobs ol & yps (o (ulil] Glay 3. 55001 58 a1 pMY ALl il LU s (2
- 3Lally Ao 1) oy Julll Jlobs poill G Dysman (oo (ol Glay 5. 3,81 5a Cae ) p3I5Y 2iud) Adlad LY 1 0T (D
LAy Byl oy Julll oo poidl & ipaas (pa (il Glay 43 8581 52 a1 Y Susndl Al BTV asl (C
- BLANly Bl oy Julll Jlsbs poill & pnis (p (il Glay 13 3581 5o e )11 1Y 20l Al BT 1ol (d
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M% Advanced Exercises

Choose the correct answer from a, b, cor d:

1. The civilians who were in the battlefields would never recover mentally from the ............... of war.

" a) horrors b) accidents c) souvenirs d) peaks
2. The famous pianist had good ................ ,and a wonderful pure tone in his last concert.

" a) detection b) dialect c) accent d) intonation
3. Children may eat pills in ........c...... for sweets, so we should keep medicines away of their reach.

" a) error b) mistake c) accident d) charge
4. My uncleis ... by his wife and two sons to whom he left his money.

" a) endangered b) survived c) rescued d) damaged
5. Mr Reda is the most ... person I've ever met. He never tell lies.

™ a) real b) disloyal ) genuine d) original
6. The court ... that the workers were unfairly dismissed and must return to work.

" a) governed b) investigated c) searched d) ruled
7. Although | met this girl many times, her name ................. me.

" a) reminds b) remembers C) escapes d) forgets
8. Many of the employees were ... to the idea of change as there could be a loss of jobs.

™ a) friendly b) hostile c) welcoming d) versatile
9. They never go on holiday, ................ ?

" a) don't they b) never do they c) are they d) do they
10. Someone’s at the door, ... ?

‘™ a)isnthe b) isn't she c) are they d) aren't they
11. Open the window, ............... ?

£ a) would you b) are you c) shall you d) have you
12. Let’s not go to the cinema, ............... ?

(™ a) shantwe b) shall we ) can we d) won't we
13.1don't think that's a good idea, ................... ?

{ha)isntit b) hasn't it o) isit d)dol
14. He answered all the questions ................. .He failed the test.

£ a) wrong b) wrongly c) well d) good
15. She speaks ............ English and is going to be chosen to represent the company in the

conference.

. a) fluently b) fluent ) more fluently d) a fluent
16. The templeis .......ccc..... .

¢ a) very ancient b) absolutely old

c) completely ancient d) all are possible
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M% Lessons 1& 2 Exercises

o Choose the correct answer from a, b, cor d:

1. The money was collected fora .................. purpose which is to build a new cancer hospital.
" a) relevant b) hilarious ¢) timing d) specific
2. Some players are ............... from teams because they are infected with the coronavirus.
" a) broken b) included ¢) dropped d) contained
3. This dish is one of my grandmother’s delicious secret ... .
¢ a) prescriptions b) recipes ) directions d) observations
4, The present ... of the football team is from South Africa.
" a) coach b) player ¢) advisor d) teacher
5. The student ... came first in the competition is being awarded a medal.
¢ “a)whose b) who c) whom d) he
6. The subjects ... I'm studying this year are difficult.
¢ “a)what b) where c) which d) when
7. Thisisthe bus ................ | have been waiting for.
¢ a)who b) where c) whom d) that
8. Theday ... the concert takes place is Sunday.
v a) when b) which ¢) in which d) at which

9 A) Choose the correct English translation:
e e ISy Crpalaall Gy oo ¥ G ol Do glaall iy S s Auarkall] Jilunslly pgladd] Colua¥ | igs -
Lgldiny s duanS
¢ :a) The educational objectives are concerned with the educational means and how to deliver
the information to the students. Therefore, teachers must be well trained on how to refine
and achieve them.

b) The educational objectives are concerned with the educational means and how to deliver
the information to the students. However, teachers must be well trained on how to define
and achieve them.

¢) The educational objectives are concerned with the educational means and how to deliver
the information to the students. Therefore, teachers must be well trained on how to define
and receive them.

d) The educational objectives are concerned with the educational means and how to deliver
the information to the student. Therefore, teachers must be well trained on how to define
and achieve them.

B) Choose the correct Arabic translation:
The ability to achieve your goals is only possible if you set one goal in the first place. That's
why goals should be specific and measurable.
0555 Of it a1 1gd . Jo¥1 pLALIE asnly G JlaT Cad 13] Lo s ZiSan Slblual 3uad e 5,04l 0555 (a0
oulEl ALy sat s BlaaYl
Ol gt w113 Jo¥ 1 pLAL @ sy Cda ity Ciad 13] Ja 38 3iSs Elblaal 3uasf e Budll 5o S5 (b
e Bl ALlBg Ba s CBlaa¥ | 5SS
Ot w1 1igh . Jo¥ 1 pLAL @ asly s iy Cuad 13 Ja 3 25Sks Elblanl 3uasf e 3,040 05 S5 (C
ool G L5 Satsa (Bl a¥ (<5
gt el 1igd Jo¥ 1 pLEL & sy (s tyusdy Cied 13) Jadd 2iSea id Elblaal 3uasf e 8,081l 055 (d
cooleaU A L1E 5 Baima B10aY S5 Ol
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mg Lessons 3 & 4 Dictation
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M% Lessons 3 & 4 Exercises

o Choose the correct answer from a, b, cor d:

1. Effort-saving .......cc....... like the dishwasher and the microwave have become very popular.
¢ a) books b) devices ¢) mails d) designers
2. This book offers advice on choosing furniture, and kitchen ................ .
¢ a) machines b) tools c) accessories d) fictions
3. Archaeologists have come ... an important discovery of an ancient tomb while looking
for the lost temple.
{a)out b)in c) off d) across
4. These documents are NOt ............... to the public as they are secret.
" a) accessible b) avoidable c) stressful d) unreliable
5. Cairo, .o is the capital of Egypt, is very crowded.
{va)that b) where ) what d) which
6. Most of the programmes ................ on TV these days aim at fighting terrorism.
" a) shown b) which show ¢) showing d) show them
7. The doctor ... to see was sick.
¢ a) whom | wanted him b) I wanted
c) l wanted him d) who I wanted him
8. Tellme ..o you want me to do.
¢+ a) which b) that c) what d) who

9 A) Choose the correct English translation:
o Lok Bl ! Jalowyg oledild 5,Sal IS Lo gl poid Aoy Gorian IS pliy G Sloadl ol | a350 355, -
B8 )l e aduais Lle pginclun IS5
¢ :a) The International Youth Conference, which is held annually in Sharm El-Sheikh, focuses on
innovative ideas of the old people and tries to benefit from them by helping implement
them on the ground.

b) The International Youth Conference, which is held monthly in Sharm EI-Sheikh, focuses on
innovative ideas of young people and tries to benefit from them by helping implement them
on the ground.

) The International Youth Conference, which is held annually in Sharm El-Sheikh, focuses on
innovative ideas of young people and tries to benefit from them by helping implement them
on the ground.

d) The International Youth Conference, which is held annually in Sharm EI-Sheikh, focuses on
innovative ideas of young people and tries to benefit from them by helping apply them on
the ground.

B) Choose the correct Arabic translation:

An entrepreneur is someone who locates the need of society and tries to meet them, with

an innovative and profitable idea.

At 9 8,SEkn 8,8 Larly O Uslsts el b s 61 sl s JLee¥1 051, (2
it a9 8,Siie 5,5 Leuly 01 Jsls gaiad | ) 30 @l pasiddlsa Jlec¥ 1 31, (D
it a9 8,Sihe 8,8 Lawly 01 Jslt s gaiad |l sugt U1 sl 9 Jlee¥1451, (€
L4 a9 5,Sn 5,8y Lgy OF Ul g al,38 1 dn b sug @11 Lasedd! oo Jlec¥1 W51, (d
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M% Advanced Exercises

Choose the correct answer from a, b, cor d:

1.There’s No ... to be gained from endlessly discussing whose fault the loss was.
{va) coin b) stock c) interest d) profit
2. Microsoft’s software ... is the best and they continue to show marvellous growth.
¢ a) hacking b) division c) architecture d) upload
3. The rich woman has very few ... assets as most of her wealth is tied up in property.
¢ a) liquid b) wasted c) fixed d) moving
4. Things began to go wrong when Sameer got into bad ... .
¢ a) business b) company ¢) store d) tutorial
5. Messi is a great player with a highly ............. style.
{ v a)team b) common ¢) individual d) strange
6.It'shardtobe ... about my own family.
" a) knowledgeable b) resourceful c) subjective d) objective
7. The hospital needs more staff as each nurse ... 15 patients.
¢ a)attends b) pretends c) describes d) prescribes
8. Big companies’ shares in the stock market 4=,s4! are more ............... than those of smaller ones.
¢ a)solid b) investing c) liquid d) descriptive
9. This is the shirt ... .
¢ a) which bought b) that | bought it ) I bought it d) I bought
10. My English teacher, ... , retired last year.
"+ a) whom | really admired him b) whom | really admired
) | really admired d) I really admired him

11.1 like reading Shakespeare’s plays. This means | like reading plays ................... .

¢ a) which Shakespeare writes b) were written by Shakespeare
) written by Shakespeare d) which written by Shakespeare

12. Aswan, ... my father likes visiting, is a nice city.

¢ a)which b) where c) when d) in which
13.1live in the house.......... entrance is guarded by four dogs.

{ha)its b) what c) which d) whose
14. They did something ................ they should apologise.

" a) about which b) for which c) to which d) in which
15.The train ... at this station is not express.

¢ a) stopping b) stopped ¢) which is stopped  d) stops
16. | don't like the stories ... endings are sad.

(v a) that b) which c) whose d) where severe
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Ansuers Follow-Up Exercises

Unit (7) Lesson 1 & 2 EXercises

o Choose the correct answer from a, b, cor d:

1. b) determination 5. b) am thinking

2. b) degree 6. a) am wearing

3. d) currents 7. d) is reading

4. a)challenge 8. ¢) is always saying

9 A) Choose the correct English translation:

d) Modern means of transport facilitated travel between all different countries of the world, and
this was unfortunately one of the most important reasons that led to the rapid spread of the
coronavirus as well.

B) Choose the correct Arabic translation:
Jeadl ary (b Ayl iy bl Cgll B L pgiaalys Jlafo ol G pdd! i peanad | bl le OIS L oslall G2 (€
s B £9,8 gl I Dilaaland|

Unit (7) Lesson 3 & 4 EXercises

o Choose the correct answer from a, b, cor d:
1. d) conversation b) tonight
2. a) price a) am redecorating

3. a) voyage d) Do you know

® N o W

4. a) mail
9 A) Choose the correct English translation:

b) Some experts say that writing a diary at the end of each day helps you to benefit from the
experiences you are going through, and organise your work and daily activities.
B) Choose the correct Arabic translation:

- p5bdly raluclll LA ] S350 960 - Aalisiall SlBLEH po Juolgil sl N sawd| bise wal (2

c) 'm writing

Unit (7) Advanced EXercises

Choose the correct answer from a, b, cor d:

1. d) course 9. d)islooking

2. c)accent 10. b) own

3. b) missed 11. ¢) hear

4. a) harbour 12. a) feels

5. b) degree 13. b) is smelling

6. d)form 14. c) weighs

7. d) presentation 15. d) is being

8. ) celebrating 16. a) are seeing / are having
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Unit (8) Lesson 1 & 2 EXercises
0 Choose the correct answer from a, b, cor d:
c) will have started
d) will have finished

1. b) network
2. d) check

3. ¢) available b) will have been married

® N o Wn

4. a) public
9 A) Choose the correct English translation:

a) have gone

d) Many believe that people will depend mainly on public transport in the future, but some
rule out the disappearance of cars because they give their owners privacy that public
transportation does not provide.

B) Choose the correct Arabic translation:

Jim g e Bogusdl CHLEET Jaad . Ola¥ |y Dagudly belagsdl Gladal s I G Jai delivn b Oguaasiially slolall Jony (€
GLa 38Ty & ynl Sy egigams A Gl ¥ o el

Unit (8) Lesson 3 & 4 EXercises

0 Choose the correct answer from a, b, cor d:

1. a) arguments 5. b) arrive

2. d)respond 6. d) will have finished
3. a) stress 7. a) will have graduated
4. a) affect 8. ¢) will have completed

9 A) Choose the correct English translation:

b) Youth's creativity may contribute to solving many problems facing societies. Therefore,
they must be involved in decision-making centres in government institutions.

B) Choose the correct Arabic translation:

Lgud s BT g g yoteglLy s 3589 LS ey 801 pusid e Byl Ja 1 Kl ag cya sLall Cliladl o (@
o 5305015 clall o 35858 mngysgl!

Unit (8) Advanced EXercises

Choose the correct answer from a, b, cor d:

1. a) advantage 9. a) are studying / will be watching
2. b) alternative 10. d) will be beaten

3. d) bridges 11. b) hope / will be

4. c) scheduled 12. d) will be treating

5. b) private 13. a)can't come

6. d) tunnel 14. c¢) had been awarded

7. c)issue 15. ¢) to have been repaired

8. a) point 16. b) Will join
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Unit (9) Lesson 1 & 2 EXercises

o Choose the correct answer from a, b, cor d:

1. d) preserved 5. a) exactly

2, a)crops 6. c)almost

3. ) sites 7. b)did you use
4. b) bank 8. d)far

9 A) Choose the correct English translation:

¢) The closure imposed by the coronavirus pandemic in many countries of the world
brought some benefit to the land, the environment and nature, as air pollution levels
decreased and wildlife flourished.

B) Choose the correct Arabic translation:
OlEmd| dpald) le Jadloniy dind! Lle Jadlo Lo dmdall Blobiadl 31 Jaimuced | 3ol L le 0¥ Al dslwdl C8, a5 (@
AT e

Unit (9) Lesson 3 & 4 EXercises

0 Choose the correct answer from a, b, cor d:

1. b) inspired 5. a)intelligence

2. c)organise 6. b) slightly

3. d)sign 7. c)alot

4. a)jobs 8. a)didn’t use to play

g A) Choose the correct English translation:

b) The negative and wrong behaviours that a person may do greatly harm the safety and
health of the environment. Therefore, changing these behaviours is one of the most
important factors in preserving the environment.

B) Choose the correct Arabic translation:
cAalin Tia) B,05 (gt 9 BlaSy Sl e o le Byl Ll 355 01 11 (e 098w (€

Unit (9) Advanced EXercises

Choose the correct answer froma, b, cor d:

1. ¢) specialised 9. b) would always help
2. a)shade 10. c) used to visit

3. ¢)sign 11. d) went

4. b) limits 12. a)doesn't

5. ¢) monitor 13. ¢) slightly less

6. a)task 14. a) similar

7. c) positive 15. b) differ from

8. b) visible 16. d) the same
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Unit (10) Lesson 1 & 2 EXercises

o Choose the correct answer from a, b, cor d:

1. d) interviewed 5. ¢) had never been
2. c) responsible 6. b) started
3. b) conductor 7. d) had left
4. b) admitted 8. a) wanted
9 A) Choose the correct English translation:

d) The means of obtaining news have evolved in the past few years. Newspapers were the
most important means of obtaining news, but they are about to disappear with the
advent of the Internet.

B) Choose the correct Arabic translation:
O deLaiad g AyslaiBY (g duliad) CBg,lall e wSTIL 3559 C6,59 1 rue Wpguu »Ei O WISILLSM o Say (€

Unit (10) Lesson 3 & 4 EXercises

o Choose the correct answer from a, b, cor d:

1. d) grateful 5. a) buying

2. a) permission 6. d) had gone
3. ¢)involved 7. b) had been
4. d) barriers 8. ¢) had eaten

9 A) Choose the correct English translation:

d) As a result of the great change in the means of reporting the news, it has become
imperative for every journalist to develop his sources and the way he writes the news.

B) Choose the correct Arabic translation:
L3S yuda ol Abols 0985 Ob S Flaiisl SIlia 0¥ ¢ 6,03 Lle Wagyal LD1HLEY s oo gasdl Lule (b

Unit (10) Advanced EXercises

Choose the correct answer from a, b, cor d:

1. d) sourced 9. d)bought

2. ) fire 10. ) being written

3. a) titles 11. a) been written

4. c)wave 12. b) He had hardly seen
5. a) overheads 13. d) realised / had lost

6. c)talent 14. c) had happened

7. d) truth 15. b) was / had been waiting
8. b)tone 16. a) had learnt/ started
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Unit (11) Lesson 1 & 2 EXercises

0 Choose the correct answer from a, b, cor d:

1. ¢) survive
2. ) script
3. a) colleagues
4. c)scared

9 A) Choose the correct Arabic translation:

b) isn't

d) will

a) did

d) suddenly

c) It is said that the impact of cinema on society is reflected in its members, as it changes

their behavior, takes their minds to distant horizons, and even affects their daily lives.

B) Choose the correct English translation:

cCraiaina @ gilinlg pualasdl iy L)Y Bk B pOBY | elanal dpwlwd | (ol ¥ J1es

Unit (11) Lesson 3 & 4 EXercises

o Choose the correct answer from a, b, cor d:
1. b) harnessed

2. ¢)silly
3. d) animated
4. a) mistake

9 A) Choose the correct Arabic translation:

b) It is said that a person’s favourite film reflects an aspect of his personality, so if it is a
science fiction film, then this means that you are a thinker and a dreamer.

B) Choose the correct English translation:

® N o wnm

b) hasn't
b) does
c) cowardly

a) well

Lo oY1 dclis (@

 BLM5 g5l oy Sl sl o0l b sy Gl ilag 45 . 3,31 5 a1 p3USY il Al LY ol (b

Unit (11) Advanced EXercises

Choose the correct answer from a, b, cor d:

1. a) horrors
2. d)intonation
3. ) accident
4. c) rescued
5. c) genuine
6. d)ruled

7. c)escapes

8. b) hostile
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10.

11.

12.

13.

14.

15.

16.

d) do they

c) are they
a) would you
b) shall we
c)isit

a) wrong

b) fluent

c) completely ancient
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Unit (12) Lesson 1 & 2 EXercises

o Choose the correct answer from a, b, cor d:

1. d) specific 5. b)who
2. c) dropped 6. c) which
3. b) recipes 7. d) that
4. a) coach 8. a) when

9 A) Choose the correct Arabic translation:

d) The educational objectives are concerned with the educational means and how to
deliver the information to the student. Therefore, teachers must be well trained on how
to define and achieve them.

B) Choose the correct English translation:
Badsue 1A (3585 O sy e 1) . Jo¥ 1 plaadl b asly Chuia wyusdy Cued 13] Jadd 2iSas clblaal Gudsd e 5,udll 0585 (C
~uliall AbiB,

Unit (12) Lesson 3 & 4 EXercises

0 Choose the correct answer from a, b, cor d:

1. b) devices 5. d) which
2. b) tools 6. a) shown
3. d) across 7. b)lwanted
4. a) accessible 8. c) what

Q A) Choose the correct Arabic translation:

c) The International Youth Conference, which is held annually in Sharm El-Sheikh, focuses
on innovative ideas of young people and tries to benefit from them by helping
implement them on the ground.

B) Choose the correct English translation:
A a9 §)Sa 8,5 ey OF Jlonys paionadl Aol sisg U1 G2l 50 Jlee¥ily, (a
Unit (12) Advanced EXercises

Choose the correct answer from a, b, cor d:

1. d) profit 9. d)Ilbought

2. c) architecture 10. b) whom | really admired
3. a) liquid 11. c) written by Shakespeare
4. b) company 12. a) which

5. ¢)individual 13. d) whose

6. d) objective 14. b) for which

7. a) attends 15. a) stopping

8. ¢) liquid 16. c) whose
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